S KE 110 25 RBR LA MALR R

PR3l AATESA BEy NSRLETEE(—HE) #28 %] 7
#a: TEANZ
AMFATRANER - B HEFTH XFEEEE (F) AEE

M AREH e RHEBEERTH S

- Acontinuous beam composited by aluminum and wood is subjected to a point loading
and distributed loading as shown below. Please answer the following questions.

(a) Draw the shear and moment diagram of the beam, and find the maximum bending
moment of the beam. (10%)

(b) Determine the maximum normal stresses of aluminum and wood, separately. Note

that the aluminum and wood are bonded completely, the Young’s modulus of

Epminam =70 GPa and E,_, =10 GPa (15%)
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=  BrERMEERARE  WEAFEH > NEr=160mm > B Z =80 mm >
da'/é:’iﬁ HEFZBENESp=60MPa » RARB2 X#HAHB[IAK » FeF
FPERAZETHEP B~ BAXBMH 2 EHESE=200GPa -
1) WwEANAEREABRER2EES > Bt a2 A8 AEY A6 » &F
BB RBERE B e, =40 > g =1340u > XRBAZ Sz mtby
(Poisson’s ratio) & & F /1 EPZAE A1 ? (15%)
(2) KRB H KB F & KX E & S (principal stress) &4T 7 (10%)

| |
m _____ 60°\ / 60° |
O

144, ﬁ
kﬁﬁ@a 400 mm |200mm 200mm

V"

3 & B

. (RFER 29N pioy) B RBI R p=§[x(4- )] kPa.
SR A HREEFEREZ B (57) © 25%)




